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MicroMicro--op Reduction op Reduction (recall Processor (recall Processor 
101)101)

Fewer Fewer uopsuops per instructionper instruction
allows IPC to be increasedallows IPC to be increased
while lowering C dynamicwhile lowering C dynamic
(less bits and less toggling)(less bits and less toggling)

Delivered Performance = 
Frequency * Instructions Per Cycle (IPC)

Delivered Performance = Delivered Performance = 
Frequency * Instructions Per Cycle (IPC)Frequency * Instructions Per Cycle (IPC)

Power = Cdynamic * V * V * FrequencyPower = Power = CCdynamicdynamic * V * V * Frequency* V * V * Frequency


